DHRESERETAT
F A T A EAL R L IEI Bt GRA)

3& 1 6] 20 By 3%

HAERITHRREDERTTALT

%
AT A R B BN EM B E R R 2




PERESERABETAT T LHREREMBAIZINEMGLA)

e i I 2 by 1%

(£ #)

HERSHREABELETFTAL
ML s R BN EH B ELAR S P

B R47 8% %Mt
£ % W M #



P57 %8 B (CIP) 8 i

XiE - AP EE. LN/ BEROBERESBXET
AABLHAEREMBUHZNEHBEERAER. -
A3 ERfTBFEB AR, 2006

ISBN 7-80140—516—1

I.%... I.%... IXE-HRAEET: b
BREHET -HM IV.H3I1

w B hi A< 4358 CIP Bk F (2006) 30820775

B8 IR B 1) i
(kM

HAPISERRAGERTTFTAAL

%
MR LEEBEBIEINBHBERLER S

*

M|ETRPREMAA
G W oM o D

R X K EH# 6 5(100089)
FERESLH
Frdt i —ENRI T ENRI
880 x 12302k 1/16 F4&  30.75EN%k  615FF
2006 -8 A 1 AR 2006 4E 8 A5 1 (RENRI
EN%. 1-1000
ISBN 7-80140-516—1/H- 78 E#r: 62.405T(£=M)



HER “PHERESEXETALT
i #r R B AR AR
BHMREELRS

EFHEZER FTHAX

AEERR KE3FX KEHE

] K (BEKESHF)
A2E F oL EHA KA
Kidix K OH HKEE K &
& ¥ O WG BRE
#HIRE HER



KHEFOBRREEERETALRKE SAMRE BERM %
SRER RN, 2HRIYMNEHAMAEE, RRYEHIRIKRE, ¥
BEKAL. SPHE% - WHLEE, £ROBECLE R, HEvEE
KRG E AR, BARERTESRNBIAES.

HFILHER “OBERERERETAA” BHHR, ER D%
R R R ET AL B SRR O EE, AT RS
HERHRARE T (HHIE). (EEEF). (ERERE). (E5BHEA).
(KB, (ORBELER). (REBRERERE) & “DRRESE
KEFAA " WLt SRR 5 I R 5okt . A H B P % 52
S “OBREEBRETAA” BiLos £ aR IR %4,

B A I B R A AR IS B R, AR R BT
RSk R A R A B, UL R D B e A TE R IT A A 2%
AR A, HERILER. B ANENETRE, HXESM
IR R A K AT SRR S A R R E A E R, N2 T
FHERRHERI A ES, RS LB H AR QIR 1, HAETE
KFF R AR IR & B 8 4T T IR SR AL,

BT A SR, #b R B RRRA L 24k, FE LG PRI
RARRHEREL, LSS —S BT,



|5 5 it B

ATEE “2EHIBRERZREFAABMIHRETHI" W E 89LH,
F i BB R A A SRR S, RINSRAOYRERERE T AA W
TR RETRHE (CRFFFRERRN (AFT), IEEBFE—XEFMNEREH
FHEMRE 7 XE (KBRS ER) BILEM . BHRBONEBFFITZHH
RSB, SEERMCHERIMERERS, EmTRBES, PR X
#. hE. IMREESTEHTIRESEN, BAKRHNERNSGS, BER
B¥RWIGES AN, MO TS WA AR A RBH ST IT T REH
HA,

EABHHELED, BRIED THEFRREXF RIS MARH X OMKS
X, HFRBE . BRATIERE BB RUNEERF S (B, E BB
55 TR SHIA S 23 . R B LR s kS i RE 4T 8088, PRI KKK
BAEE, PREEKFHNSEFLONEBHRSRE TEREOELME
W, ERFRRZORBE. REIET, éﬁ%‘ﬁﬁ@]ﬁﬁ%ﬁ&ﬂﬁ@%ﬂ%ﬁﬁﬁﬁ
FURACS, RATAMAIIRRERRE,

Z!S:I’:B‘J"Bﬁiﬁﬂ HENMIRERE, BTHECR, RRBREFRES
——BUSER, EHFEREKE, ReERREHE.

RINE LA BER B ETE R U&%ﬁ)d:ﬁ*#&tﬂﬁtﬂzﬂ&
PR, AEERNBY.



UNItONe ... (1)
PART ONE  +eeveeeeereereersersessessessessessessassessessessssssessensessassansessassasssssassassans (1)
Passage One  «occreeecerenmeriiiiiiiiiiiiiiiiiiiii e (1)
Passage TWO «cececereccrmniciiiiiiiiiiiiiii. (2)
Passage Three ccceccerriiniiiiiiiiniciiiiciiitiiissiescssrsonanans N (3)
PART TWO cccccrecrrinnicnncnnicescssirerorscracistiosconsosssesssssonssessesssssossssrsorssossesses (5)
UNEE TWO et e s sre e s e et rre e e s e aa e e eas (7)
PART ONE ccceceeteetenteaetitaetiatinttecciancssconcostssscnscorcessorscrserssssssssssconssssenss (7)
Passage One  ««cceeererreerimmeeiiiiiiiiiiiiiiiiiiiiiiiiiitisisntieiitst st canan (7)
Passage TWO «cocoreererseemanniiminiiiiniiiiiiiiieiiiieiiiiiiiiiiiimisiioe ( 8)
Passage Three ««ccccccceeecrrniimiiiuiiiiiiiiitiiiiiiiiiiiiiiiiiiiiiiiise (9)
PART TWO ccceccrccctrcrccoccrcsacssascrcsrcsrcssrssrsscccsccessssscrsorsensorsarsosssssccsscsssses (10)
UNIE TAr@O ..ottt cssacsscese e (12)
PART ONE cccccecerttcecsencontcrssnitcncerrirsscrssstssssontsessssssrssrssessrsscsssarsonssnssonans (12)
Passage O  cerrererrrttestitsctiiinscssetosentsosssssetcsesscsessssssssncsesssossssssssnasses (12>
Passage TWO «eeeeceerreriiiiiiiiiiiiiiiiiiiiiiiiiiiiiiintii. (13)
Passage TRrEE ceccccttecriiinniiriietirtiireicenrtcsscsssansesseressossassoscsssscsenccssscnces (15%)
PART TWO cceeccetccantrntocantiontccesciostccestosesccesscsossssssssesccasssessacssssssscsssassnns (16)
unit Four ....................................................................................... (18)
PART ONE :cccceeeretcnionitntcneciirontsnniicistieseaiinsetccsssaciossestsssssssossarsssssanses (18)
Passage One  --cccreereerrreecniiiniiiniiiiiiiiiiiiiiiintiiisisttsstensenees (18)
Passage TWO «ecerersesimnniiiniiiiiiiinin st trss s cans (19)
Passage Three cccccecreeecsirinniiiiniiiniiiiiiiininiiiiiiiieie. 21



RREZEE S (L)

S

UNEE Ve oo oo (24)
PART ONE  cciceemtiiiiii vt rresetrene e ssecasasnsessnsesssnssecesnnne (24)
Passage One  ---eeoeeeeiiiiiiiii e s saa e (24)
Passage TWO «eeeeeeermiiimiiiiiiiii it ae s s ne s aaans (25)
Passage Three ---ceeereevimrimiiiiiiiiiiiiicerc et s 27)
PART TWWO ccceremmiiaiiiitiiiiiiri ittt esseeceesnstnnsecsnansssssnenssencssnssanes (28)
Unit Six fe ettt ittt eue e e eraeet e ettt e e st eetrantatearantaansnentnenensnrnsens (30)
PART ONE  c-etoeeestentnieniatiniein ettt ere s e se e sa e sne e ne e ean e (30)
Passage One  «oeeeeeererrmmiiiiiiiiiiiiiice e e (30)
Passage TWO crreerrrmeiimmii i e e (31)
Passage THEEE  ceeetetiieiiiiiiiiiiiiie i tietteeteieneensensrarseenssesesssrensassnsnns ceveees (32)
PART TWWO ceccretermmmmimtiititiiiiiiiitiiicirtteeesriterseenesseresssssessssssssnssonsssnsnre (34)
UnitSeven .......ccoooevvvveveevonenennnnn, eeseeteeettececncaterensnrorentasessennrnrns (36)
PART ONE  ceceteeertetttiiiiiiiiiiiiitiiiiirstiistnrnsarecatsessssessssssssossesesnsesncnsnsnsases (36)
Passage One  «oceeeereirmiiiiiiiiiiiiiiiiiiiii e e ST (36)
Passage TWO «treeeertiiiiiiiiiiiiiiiiiiiiiceiiic et eretne s saesneasesnssnnsns (37)
Passage TREEE  ceeertterettiiiiiiiiiiiiiirieiteereerenecscessenssesssscanscnsssnsssnsennsons (38)
PART TWWO ctctetttiiiiiiiiiiiiiiiiiitiiiiaittersreetsencesssesensasnssecscnsssssossasnsnsensnsnnes (40)
Unit Eight .................................................................................... (42)
PART ONE  ceeettttitttiiiiiiieiitieiietenereieraeesessssessenssnssssesossanssesssnssssssnssnnsns (42)
Passage ONE  errerernentetritiiiiiieiitiiiitetetetterastenesaesssnsssescnsossssasesossanasns (42)
Passage TWO «oteeeeermoimiiiiiiiiiii ettt s saes s sans (43)
Passage T  cveetetiimiiiiiiii it ettt eretinereastaseessensenssescsnscnnssnssnsnnns (44)
PART TWWO ceeccritiiiiiiiiiiiiiiii it iirettisesestenetecssasssessesnssssssnsnsssssases veer (486)
UN I NG e, (49)
PART ONE  ccrcretetiiiiiiiiiiiiiiiiiiiiitii it tirrenceneteeesstesessnesserasscnsesssnsnsnsnnnns (49)
Passage (9] T T NPT (49)
PaSSage TWO «eceeeerererermitttitiimannninitiiie et st ereeeseeeses s e en s saaseeeees (50)
Passage T EEE  ceeeriiiiiciiii ittt ittt eenieterraeeaseeeseinsseanssscnseennseannsnnnns (52)

PART TV ceeeetiiiiiiiiiiiiiiiiiteiiitteeiteeenesetaseessasssteesssnnnsossnrensssennsesssesnnes (53)




UM T MY oottt eeeeen e e eeneseanneseaensseeaesaensseranaaes (55) H

PART ONE  ccccetcettretrnuientortectccarconsancsoncancsnssssosnsoesossssnsonsosncssssssosasosssssass (55)
Passage ONE  cereeoteetetiemiiiiiiiiiiitiiiiiietiatetetiati it tetiatanietsesessnciesasasstsnes (55)
Passage TWO «--eeeereerrenanna. et teeetesaetesatteenaecsattanatesnnteteteeneseennecnnsecnnsonans (56)
Passage Three ................................................................ (57)

PART TWO cecceecertcnnncntnracentertenrcortontoteiosistestsorsccasosssrsarasossoscsassns ‘esesssass (59)

UNItEleven ...t (61)

PART ONE ccceccererreetriettiiitiiiiiiittiiiiiiitiiiteittccisecistssistcistsssnscsssccssscsnes (61)
Passage ONE  corceeerrentteimiittiiiieiiiiiieiiaiesiotsstctsicsssstersosstsosacsssssssssconass (61)
Passage TWO ceeereeenenccantaaerinnniientsanerasensoressoosassossssnssssssosssssssnssssssssasas (62)
Passage TRrE@E  ccccerertenitiiiiiiiiiiotiiiiecicisscsstecersctescccnsssentssrscsssscsocsconnans (63)

PART TWO eccereerecttimiiaueiuiiiiiiiciuisiiontonsisscortossssetossscssosncrsceasssssssssnsssrses (65)

Unit TWelve ..., (67)

PART ONE  ccccetereeettottantteaetntottestecntectssnsertecnsossosesisssstsssssscesssassnsosssssanses (67)
Passage (0] 07 T T LT T P P (67)
Passage TWWO errererersmsieneieiiiiiiiitiiiiitiiieiuticititsationtastctsasaticisassssssacssaees (68)
Passage TRHE@E  ceccccrecceccsiettscestssoscnscsrorcccccrsosccrsssccrsacscrsssccsnsscsessassonnes (69)

PART TWO cecerereecnrnnnnnnns eteeaestseseeeenestatertrsnsestoretesrotestensestsressesnsrosssare (70)

Key 10 EXErcises ..., (72)

SINILINOD




Directions ; There are three passages in this part. The passages are followed by
some questions. For each of them there are four choices marked A, B, C and D. You

should decide on the best choice.

Passage One g

George had stolen some money, but the police had caught him and he had been put in
prison. Now his trial was about to begin, and he felt sure that he would be found guilty
and sent to prison for a long time. ! .

Then he discovered that an old friend of his was one of the members of the jury at his
trial. Of course, he didn’t tell anybody, but he managed to see his friend secretly one day.
He said to him. “Jim, I know that the jury will find me guilty of having stolen the money.
I cannot hope to be found not guilty of taking it — that would be too much to expect. But
I should be grateful to you for the rest of my life if you could persuade the other members
of the jury to add a strong recommendation for mercy to their statement that they consider
me guilty. ” .

“Well,George. ” answered Jim. “I shall certainly try to do what I can for you as an old
friend, but of course I cannot promise anything. The other eleven people on the jury look
terribly strong-minded to me.”

George said that he would quite understand if Jim was not able to do anything for him,
and thanked him warmly for agreeing to help.

The trial went on, and at last the time came for the jury to decide whether George was
guilty or not. It took them five hours, but in the end they found George guilty, with a
strong recommendation for mercy.

Of course, George was very pleased, but he didn’t have a chance to see Jim for some
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time after the trial. At last, however, Jim visited him in prison, and George thanked him
warmly and asked him how he had managed to persuade the other members of the jury to
recommend mercy.

“Well,George. ” Jim answered, “as I thought, those eleven men were very difficult to
persuade, but I managed it in the end by tiring them out. Do you know, those fools had all

wanted to find you not guilty!”

Reading Comprehension
1, What is a  “jury”?
A. A defendant.
B. A judge.
C. A group of people who decide if someone on trial is guilty or not guilty.
D. A policeman,
2. George asked Jim to
A. take care of his mother
B. make the jury ask for less severe punishment for George
C. help him escape
D. lend him some money
3. What does “strong-minded” in paragraph 3 mean? It means .
A. cruel B. very strong C. healthy D. strong-willed
4. Who is the biggest fool in the story?
A. Jim,
B. The other members of the jury.
C. The policeman who caught George,

D. George.
5. How does the story strike you?
A. Interesting and humorous. B. Sad and moving.
C. Serious and dull. D. Instructive and worth reading.

Passage Two,

In many countries in the process of industrialization, overcrowded cities present a
major problem. Poor conditions in these cities, such as lack of housing, inadequate sanitation
(I 4) and lack of employment, bring about an increase in poverty, disease and crime.

The over-population of towns is mainly caused by the drift of large number of people
from the rural areas. These people have become dissatisfied with the traditional life of
farming, and have come to the towns hoping for better work and pay.

One possible solution to the problem would be to impose registration on town

residents. Only officially registered residents would be allowed to live in the towns and the



urban population would thus be limited. In practice, however, registration would be |c
very difficult to enforce (#£47); it would cause a great deal of resentment (A 3#) , which :3,
would ultimately lead to violence. Q

The only long-term solution is to make life in the rural areas more attractive, which @
would encourage people to stay there. This could be achieved by providing encouragement
for people to go and work in the villages. Facilities in the rural areas, such as transport,
health and education services should be improved. Education should include training in
improved methods of farming and other rural industries, so as to develop a more positive
attitude towards rural life. The improvement of life in the villages is very important,
because the towns themselves cannot be developed without the simultaneous or previous
development of the rural area.

Reading Comprehension
6. What does the word “urban”(Line 3, Para. 3) mean?
A. Of the city. B. Out of work.
C. In a bad condition. D. Of enormous size.
7. Large numbers of farmers have poured into towns because .
A. they can hardly support their families on farms
B. they are unhappy with their life in the country
C. the rural areas are too crowded with people
D. they hope to have their own business
8. In the author’s view, solving the cities’ problem of overcrowding by strict registrations
is .
A, practical B. possible
C. not realistic D. not sufficient
9. According to the writer, the problem with crowded cities will be solved if
A. traditional methods of farming are well kept
B. conditions in rural areas are much improved
C. the government can provide more jobs
D. violence could be controlled in cities -
10. Which factor is most important for people to be attracted to live in the country?
A. Their expectation. B. Their interests.
C. Their income. D. Their attitude.
Passage Three,

Australia is a land of exceptional beauty. It is the world’s smallest continent and
largest island, and a relatively young nation established in an ancient land. A series of
geological and historical accidents have made Australia one of the world’s most attractive

3
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countries from the tourist’s viewpoint. This country has a land area of 7,686,850 square
kilometers and its coastline is 36,735 kilometers,

Many of its world-renowned attractions are specific, such as the Great Barrier Reef(k
#1%), Ayers Rock, Kakadu National Park, and Sydney Opera House, Others are géneral,
such as its thousands of kilometers of superb beaches and large skiing resorts.

Tourism is a major industry in Australia, representing about six percent of the gross
domestic product(E B 4 7= S {H) and providing, directly or indirectly, around 440,000
jobs. More than two million tourists visit Australia each year, spending about $ 4,000
million. It is worth mentioning that the number of tourists from China is on the rise in
recent years,

To promote the development of its tourist industry, Australia has tourist offices in
many cities around the world, including Auckland, Chicago, Frankfurt, Hong Kong,
London, Los Angeles, New York, Singapore, Tokyo and Toronto. Official tourist offices
are in all Australian capitals and some regional centers, providing a range of services for
visitors. Many smaller towns have their own offices. .

A wide range of hotel, motel and apartment accommodation is available in most cities,
major resorts and many rural areas. There are also camping parks, many with on-site
caravans or cabins. Hotel and motel rooms usually have telephones, private bathrooms,
televisions, refrigerators, as well as facilities to make tea and coffee. The main difference
between hotels and motels in Australia is that hotels must provide a public bar to serve
liquor. Private hotels and guest-houses do not have permits to serve liquor. Many country
farms offer holidays ... which include participation in farm activities. Tourist offices

provide details and can arrange bookings.

Reading Comprehension
11. Which one is not mentioned in many of Australian world-renowned attractions?
A. The Great Barrier Reef. B. Long Island.
C. Sydney Opera House. D. Ayers Rock.
12. What benefits come from tourism in Australia?
A. Tourism represents about six percent of the gross domestic product.
B. Tourism provides directly or indirectly, around 440,000 jobs.

C. More than two million tourists visit Australia each year, spending about $ 4,000

million,
D. All of the above.
13. It is worth mentioning that the number of tourists from is on the rise in recent
years.
A. Canada B. America
C. China D. Australia

14, Which one is not mentioned in the Hotel and motel rooms?

A. Telephones. B. Private bathrooms,



C. Refrigerators. D. Oven:
15. Which is not mentioned about Australia?

A. It is an exceptionally beautiful country.

B. It has a large population.

C. Tourism is a major industry in Australia.

D. Motels can’t serve liquor.

Directions : In this part, there is a. passage with five True or False statements.

Skim or scan them as required and then mark your answers,

Except on official occasions such as formal receptions for distinguished (2f 5t )
guests, American society has a certain amount of informality (RIEZX##3h). This infor-
mality is seen in customs of introductions and greetings. On most occasions one needs not
be particularly conscious of social status. Americans generally ignore it. In spite of the in-
formality, however, there are rules of good manners and social patterns that are followed.

There are rules for introducing people to each other. A younger person is generally in-
troduced to an older one, a guest to the host or hostess, and one person to a group. For in-
stance, one would say, “Mrs. Gray, this is my younger sister Janet. ” Or “Margaret, (this
is) Carl Bradley. ” and then one adds, “Carl, this is my friend Margaret Hoskins from Chi-
cago. ” One could phrase the introduction like this: “Mr. Hoskins, do you know Carl
Bradley?” One must be sure that each one knows the family name of the other. The usual
reply to an introduction is “How do you do?” or “How do you do? I'm pleased to meet
you. ” Adding the name of the person just introduced is also common: “How do you do,
Mr. Bradley?”

In many European countries handshaking is a social courtesy (%) whenever people
meet, the custom of shaking hands in the United States varies in different parts of the
country and among different groups of people. It is difficult to make a set rule. Shaking
hands is more likely to be reserved for formal occasions. When men are introduced, they
generally shake hands. Women shake hands less frequently. Two women who meet for the
first time often do not shake hands unless one is an especially honored guest. If a man and
woman are being introduced, they may or may not shake hands. If an American does not
shake hands when meeting an old acquaintance, he or she is not being impolite. He may be
paying the acquaintance the compliment (#$#1%) of considering him one of the group.

When an American meets an acquaintance(¥ A )on the street, the most common form
of greeting is *“Hello”. It is said on most informal occasions and often on quite formal

ones. An even less formal greeting is “Hi!” More formal greetings are “Good morning”,

au0 l!unii
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“Good afternoon”, and “Good evening”. The formal “How do you do?” is generally used

when one is introduced to a stranger.

Decide whether the following five statements are true (T) or false (F) according to the pas-

sage,

16. Americans are considered to be unconscious of good manners and social patterns. ( )

17. I Carl Bradley is older than Margaret, we generally introduce Margaret to Carl
Bradley. ( )

18. When introduced to a lady, an American man usually shakes her hand. ( )

19. The best way for a foreigner to behave well in the U. S. is to follow some rules of good
manners. ( )

20. In the U. S. “Hello” is used on most informal occasions and often on quite formal ones.

( )



Directions : There are three passages in this part. The passages are followed by
some questions. For each of them there are four choices marked A, B, C and D. You

should decide on the best choice.

Passage One

Our environment is getting worse and worse with the increase of the world population,
which affects the environment in two ways. Firstly, the limited energy reseurces will be
used up much faster. Secondly, the increasing population creates more pollution — another
severe problem that needs to be solved. Both problems are long-term ones because actions
taken now show their results slowly over many years. They are also urgent because delays
in action can lead to great suffering and social problems. The question seems to be difficult
to handle for most people, However, a person can be a protector of environment in every-
day life if he takes actions to save the environment right now. With the development of
technology, cars make transportation easier and quicker than before, but we can’t ignore
the disadvantages brought to us by more and more cars in use. For example, we are
consuming gasoline (}%H), which is a non-renewable (JC¥: ##H ) resource, and will
soon be gone. Moreover, the exhausted gas from cars pollutes our air and our health is
therefore threatened by air pollution, which has a big potential effect on our daily life. So
we can consider walking, taking buses, carpooling (& K %), instead of driving cars
alone. This seems to be a very slow process that can’t be so effective if it’s taken by a single
person. But when more and more people become aware of the importance and positively
take it as their personal responsibilities, the condition of the air will be improved to a great

extent.
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Reading Comprehension
1. According to the writer, the main problem to our environment today is
A. the increase of population B. the limited energy resources
C. the more serious air pollution D. the development of technology
2. From the passage, we can know that
A. effective measures can be taken mainly by the government
B. taking measures now can soon improve the environment
C. immediate measures can cause great suffering and social problems
D. every single person’s action has some effect on environment protection
3. The author’s main purpose in writing this passage is most proBably to
A. complain about people’s slow actions to protect the environment
B. advise people to take actions to protect the environment
C. show himself to be an active environment protector
D. point out the bad effects of technologies on protecting environment
4. The author believes that carpooling .
A, can give help to those without cars
B. can save people money and tir'ne

C. can save energy resources and reduce air pollution

D. can promote friendship among drivers
5. The passage is mainly about
A. energy resources saving B. environment protection

C. population control D. air pollution

Passage Two,

Some pessimistic experts feel that the automobile is bound to fall into disuse. They see
a day in the not-too-distant future when all autos will be abandoned and allowed to rust.
Other authorities, however, think the auto is here to stay. They hold that the car will remain a
leading means of urban travel in the foreseeable future. The motorcar will undoubtedly
change significantly over the next 30 years. It should become smaller, safer, and more
economical, and should not be powered by the gasoline engine. The car of the future
should be far more pollution-free than present types. Regardless of its power source, the
auto in the future will still be the main problem in urban traffic congestion.

One proposed solution to this problem is the automated highway system. When the
auto enters the highway system, a retractable arm will drop from the auto and make
contact with a rail, which is similar to those powering subway trains electrically. Once attached
to the rail, the car will become electrically powered from the system, and control of the
vehicle will pass to a central computer. The computer will then monitor all of the car’s

movements. The driver will use a telephone to dial instructions about his destination into



